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CAMPION SCHOOL, MUMBAI
PRELIMINARY EXAMINATION
Sud X Date : 010172019 Sub : Mathematics Time: 1% hows Marks: B0

Answer 1o this paper mest be writlen oo the peper provaded separalely
You will NOT be aliowed 1o write during the first 15 minutes.

This time is to be spent in reading the question paper.
m&#lhﬁﬂﬂ#hﬁmwhm&m

The intended marks for questions or parts of guestions, are given in brackets | |

SECTION A [40 MARKS]
ALL QUESTIONS IN THIS SECTION ARE COMPULSORY

Question |
\,‘H-htnhwmmuﬁﬁ == (3
H%Hﬁuﬁmmﬂwimh_ﬁwh.m;ﬂ:

-1- --1 -:-

w},ﬁhnmmhqim ciscle. Angle AEC = 40°,
angle BCE = 22", Find Angle ABD and Angle BDE.

Question 2
wﬁmmﬂhmmduummmmmu—mﬁ-m

3 times the third term by 2. _ (8]
LB (6% 4 22— 15) i3 & fictor of x" + ax” 4 b — 30, Find the walues of a and b. (3)
r.f}‘ Solve, give your acawer comeet 1o 3 significant figures: (x - 1)}~ Ix+4=0 (4)

Queation 3
gnmwmdmum-ﬂmnmammmwmmnr
radius 3.5 em. Calculate the number of spheres that can be made. ()]

H.h‘!ﬂwtmm&mﬂhlhﬁwﬁdjmiqhwdm pa He
receives Rs. 20,220 afer ) years. Find the monthly deposit o)

v-6 Line 3x ~ 4y = 18 meets x-uxis st A snd y-sxis ot B. Find the area of triangle AOB where O i the
origin. @
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Question 4

_L;j-mquﬂdlmmiu.nmdﬁumpmnmm (4)
gt -3 | 13-15 | 15-17
el - 17-19°1 19-21 | 21-23 | 23-25
Ne.of
iy 3 6 9 13 i 5 4

mnﬂhhmﬂqeqluﬂulh 12 giving 9% dividend. 3
+[#  Find the change in income
(i) mmminﬁmﬂﬁmﬁu}hvmmt

"3

SECTION B
- EJL?EWIGWUFTFR{IHWEECHEH

e [40 MARKS]

£
%Wﬂlhﬁﬁ!ﬂmﬁﬁ,h-ﬂ:pfﬂ:ﬂhdh top of the monumnent is 45° and the
angle of depression of its foot is li'.l-'ndlhlld;htnfﬂummthcm
meieT
(3)

Muumm-hml::‘+ ‘::‘=::uncA 3)

ﬁﬁtﬁmhﬂclﬂﬁdﬂkhmﬂ&eﬁ

If angle CDE = 28", find the value of Angle BAC. 4)
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a; Find the equation of a line passing through the point (1, 4) and intersecting the line
| % —2y - 11 =D on the y-axis. (3)
o | The first tenn and the last term of the AP are 34 and 700 respectively. Il the common difference is
18, how many terms are there and what is their sum? (3)
The following hhlt:hnmlhtgq:mﬁnnnrﬁnhy:mhﬂk:. Find the mode of thoir
expeaditure. )
Expenditure | 20 -25 25-30 30-135 35-40 40 45 45 - 50
(in Rs)
No. of a 7 23 18 6 2
Students i
Question 7 o
a) Plot A(3, 0) and B(6, 4) on a graph paper. (5)

(i) Reflect B 1o B’ in the Jine x = 0 and write the co-ordinates of B’

(ii)  Reflect A to A’ in the line BB’ write the co-ordinates of A"

(i) Locate point P and write ils co-ordinates which is equidistant from A and'B and
equidistant from B'A’ and AB

(iv) Find the Area of triangle APO where O is the origin. B

C
b) The given figure shows a semi-circle with centre O
and diameter PQ. If PA = B and Angle BCQ =
- 140% then prove thai AD | BQ. (3)
Q:;aﬂﬁl ) s ;
a the ratio in which the line joining the points (- 3, ~ 1) and (5, 7) is divided by the
line x = 2. Also, find the co-ordinates of the point of intersection. (3}

%hﬂmﬂnﬂﬁﬂmmmu:’+ﬂf+!]n 45 completely. )

Construct a wiangle ABC, in which BC = 7.5 cm, angle B = = 60°, ahtitude AD = 3 em. Construct a

ciscle 10 touch BC at its midpoint and to pass through A. {4)
Question §
a) ﬁmﬁ f].xn l:ﬁ.Wri:eﬂuum (3

(i) The order of matrix X
(i} The matnix X.
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. _ . Iz 43 G2(1+x)
k) Using the properties of proporiion. solve the expression” I:":, = s3(1-2,

(3

¢) One year ago, father was & “mes as old as his son. Now his age is the square of his son's ag.

Find their present ages. (4)
% Question 10
a) The given figure shuws a cylinder whose radius is 6 cm with s (u)

hemispherical portion of same mdius on op. Wader is filled in the
cylinder to a height of 10 em. How much will the level of water rise,
if the cylinder is inverted. ,

b)- 100 pupils in a school have weights as wbulated below. Take a scale of 2 cm = 5 cm of height and

2 em = 10 pupils. (6)
| Weight (in
kg) 40 =45 45 = 50 30-33 55 -60 60 = 65 63 =70 T70-75 I
MNo. of - ...}...‘..
pinnlly 12 16 30 20 14 5 3
h Draw ogive and estimate the following:
(i) The median weight. g

¢ (i) The number of pupil whe are obese, il weight more than 67 kg is considered obese.
(ili}  The number of pupil whose weight is less than 47 kg.

E :E If two digit numbers are made with 3, 5, 7 and 9, what is the probability that the number is-(3)
(i)  greater than 55

i) & prime number.
@/F‘indﬂum:nhﬂ*htm: of a GP whose fnmh;ﬁmnﬁnilluﬂhuw
is 384, ’ )

In the given figure, AD = 9 em, BC = 12 em and (u)

AC = 15 cm. BP . AC. Find BP and AP.

LR L LR
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